MATH 3630 - Actuarial Mathematics 1
Fall 2011 - Valdez
Homework No. 2
due Wednesday, 5:00 PM, 5 October 2011

Please return this page with your signature. Please write your name and student
number at the spaces provided:

Name: SU G(7ESTED SCL_UTI OGNS  Student ID:

I certify that this is my own work, and that I have not copied the work of another student.

Signature: Date:

Mortality for a population consisting of females and males follow a select-and-ultimate table, an
extract of which is given below. Females have a 3-year select period while males have a 2-year select
period. Assume mortality follows the Uniform Distribution of Death (UDD) between integral ages.

Females Males
x o) i1 Lgguz foys T+3 z Uy Lt loyo x+2
50 80960 79827 78522 77025 53 50 70764 69124 67224 52
51 79530 78334 76958 75382 54 51 68823 67118 65146 53
52 78021 76760 75312 73655 55 52 66805 65036 62993 54
53 76430 75103 73581 71842 56 53 64711 62879 60768 55
54 74756 73362 71765 69944 57 54 62544 60651 58475 56
55 72998 71535 69863 67958 58 55 60305 58354 56117 57

1. Calculate the probability that a randomly chosen male from this population, now age 51.5 with
select age 50, will die within the next 2 years and 3 months.

2. Calculate the probability that a randomly chosen female from this population, at select age 51,
will die between the ages of 52.35 and 56.75.

3. Suppose that the composition of the population at select age 50 is 60% female and 40% male.

a) What is this Composition after 5 years? ie. give the pI'OpOI'tiOl’l of males and the pro-
p
pOI‘tiOl’l of females)

(b) Calculate the probability that a randomly chosen person now age 55, with select age 50,
from this population will survive the following year.



MWz Fxlizoll

(0 Zzs‘b\fw\S
/’\—/\———————\
“———! ¢ P VXX??>17< vf/{\’ L
(551 [+ [A 52 S#W??
(Gol+iS 539
\W\Q ) m/\i(_, JZ
2’23%&3}*‘\-9 = (- ZZ)?ES(T&H = (= AS37s
0 | Alseiets
< |- b st s (e4)
K (,&[‘_gg}ﬂ t )Qs‘w_} 'S CU2YG + 67229
= 0,0¢810(4&
C Z) 135 u\uf SO ,, 4‘4 Oyears
1/ Ane \\ SO GBeay
Dg\] fs\]Hf ES\V?- T340 56 [ 5
(5AR3S 5675
{I'\e\n-a‘t '\G:W*lt ‘Fﬁv\as o
440%5\3 = s T S‘J:‘rr[gﬂ
= kﬁ[?ﬂ%l%%‘ . JZS“GJY
ALsiy
(‘Qgﬁfg\‘}i—l {-‘BYJZ&“\SH.\’ (‘ZY/QS—G ‘\"\ 739?‘,)
Acen
= Les(szzat. 35 (7¢as8) | - [ es(rsadt 73-(4,‘2‘?4@]
79530

= 0,01347129




(?)

(@) ‘W\h Q 13G5¢
SF&\O—] B Jf.b = S0 9ce = 9097703
| (su
Sftsﬂk o Uy TS -~ 8CgI4T

“’JQ[T;S To7¢q
ﬁ[;ﬁl g CJDC)/; %W&\A 2 dtc’b/o MlL : ‘K{M S\L' 'ﬁﬁ,y{k/‘»ue A(&L/ -

PFFP’}‘%"’O»\ _%h%u _ (6 (90T T703) . '(013,:}\704
6o GoTTT3) L4 ¥CETHT @
| 357
Ww{%oh el o G0 (18SET74T

€0l 9011763 b a(L 555747

%OF A MV\ACAW\I;, CJ«GSCP\ F‘QVQOY\/

Goles = [rgyps % 2637704+ frses ™ 380229¢C

—

T

= SLCT 703183

G



